
IRS CIRCULAR 230 DISCLOSURE: To ensure compliance with requirements imposed by the IRS, we inform you that any U.S. federal tax advice contained in this communication (including any attachments) is not intended or written to be used or relied upon, and cannot be used or relied upon, for the purpose of (i) avoiding penalties under the Internal Revenue Code or (ii) promoting, marketing, or recommending to another party any transaction or matter addressed herein.  If you are not the original addressee of this communication, you should seek advice based on your particular circumstances from an independent adviser.  
1. General Rule of Nonrecognition
a. No gain (or loss) is recognized if property held for productive use in a trade or business or for investment is exchanged solely for property of a like kind to be held either for productive use in a trade or business or for investment.  IRC §1031(a)(1); Treas. Reg. §1.1031(a)-1(a)(1).  

b. Consequence if Other Property Received (Boot) (aka a “Partial Exchange”):

i. Receipt of Money or Non-Like Kind Property

1. If taxpayer receives money or non-like-kind property, or the exchange will qualify, but the taxpayer will recognize gain (but not loss
) to the extent of the boot received.  IRC §1031(b) (gain property); §1031(c) (loss property); Treas. Reg. §1.1031(a)-1(a)(2);§1.031(b)-1(a).

a. Example – If A exchanges real property worth $5000 with a $5000 basis for real property worth $6000 and $2000 in cash, A will realize $3000 ($8000 received over $5000 basis), but will only recognize $2000 (amount of boot received)
. Treas. Reg. §1.1031(b)-1(b), Ex. 1.  

ii. Receipt of Mortgage Boot
1. Mortgage Boot Treated the Same as Money

a. Liabilities assumed by the other party to the exchange are treated as money received by the taxpayer. Treas. Reg. §1.0131(b)-1(c); §1.1031(d)-2.  Liabilities transferred by the taxpayer and assumed by the taxpayer in the exchange are netted, meaning that there is only mortgage boot to the extent the taxpayer the liabilities transferred exceed the liabilities assumed.  Treas. Reg. §1.0131(b)-1(c).

2. Application

a. If the taxpayer receives mortgage boot, the taxpayer will recognize gain, but only to the extent of the mortgage boot received.  IRC §1031(b); Treas. Reg. §1.1031(a)-1(a)(2);§1.031(b)-1(a).

b. Examples:

i. A has real property with a basis of $500,000 subject to a $150,000 mortgage.  A transfers the property to B in exchange for (i) real property worth $600,000, (ii) $50,000 in cash, (iii) assumption by B of the $150,000 mortgage.  A will realize $300,000 ($600,000, plus $50,000, plus $150,000 over $500,000 basis), but will only recognize $200,000 (the $50,000 cash boot plus the  $150,000 mortgage boot).  Treas. Reg. §1.1031(d)-2, Ex. 1.  

ii. D has real property with a FMV of $220,000 and a $100,000 basis subject to a $80,000 mortgage.  D exchanges that property with a property owned by E with a FMV of $250,000 and a $175,000 basis subject to a $150,000 mortgage, plus $40,000, each assuming the other’s mortgage.  
1. D realizes $120,000 ($250,000 FMV plus $40,000 cash, plus $80,000 relief of liability, over $100,000 basis, plus $150,000 liability assumed), but only recognizes $40,000 (the cash received)
2. E realizes $75,000 ($220,000 FMV plus $150,000 relief of liability, over $175,000 basis, plus $40,000 cash given, plus $80,000 liabilities assumed), but only recognizes $30,000 ($70,000 mortgage boot, less $40,000 cash given).  

c. Consequence if Other Property Transferred.
i. If taxpayer transfers non-like kind property, an otherwise valid exchange will still qualify; however, the taxpayer will recognize gain (or loss) on the transfer of the non-like kind property.  Treas. Reg. §1.1031(a)-1(a)(2).  

2. Basis Rules

a. Basis if Property is Exchanged Solely for Like Kind Property

i. Basis of acquired property equals basis of transferred property, increased by the amount of any additional consideration given. Treas. Reg. §1.031(d)-1(a).  

b. Basis if Money or “Other Property” is Received Under §1031(b) (a “Partial Exchange”).  Treas. Reg. §§1.1031(d)-2(b), (c).  
i. Basis of acquired property equals basis of transferred property:

1. Less, the amount of money (not other property) received;

2. Plus, the amount of gain recognized.  

ii. Example.  Treas. Reg. §1.1031(d)-2(c), Ex. A.  

1. A exchanges real property with a basis of $10,000 for (i) real estate with a FMV of $9000, (ii) a car with a FMV of $2000, and (iii) $1500 in cash.  A recognizes $2500 gain. A’s basis after the exchange is $11,000 ($10,000, less $1500 cash received, plus $2500 gain recognized).  The basis is allocated to the real estate and car in proportion to their respective FMV’s.  

c. Basis if Money or “Other Property” is Received, but Relinquished Property is a Loss Property.  Treas. Reg. §1.1031(d)-2(d).  

i. No loss is recognized, even if money or other property is received. 

ii. Basis of the property received equals basis of property transferred, less the amount of money received.  The basis must be allocated to all properties received in accordance with their respective FMV’s.  

d. Basis if Taxpayer Also Exchanges “Other Property” that is Loss Property.  Treas. Reg. §1.1031(d)-2(e).

i. If non-like kind property is also transferred, and that other property is loss property, the loss is recognized for that other property.  

ii. However, the basis of the property received equals the basis of all properties property:

1. Plus the amount of gain recognized;

2. Less, the amount of loss recognized on the other property.  

iii. Example.  Treas. Reg. §1.1031(d)-1(e), Ex. A.  

1. A exchanges (i) real estate with a $10,000 basis and $11,000 FMV and (ii) stock with a $4000 basis and $2000 FMV, for real estate with a FMV of $13,000.  A recognizes a $2000 loss on the sale of the stock.  A’s basis in the new real property is $12,000 ($14,000 basis of all properties transferred, less $2000 loss recognized). 

3. Accounting Formulas
a. Calculate Amount Realized:

Value of Property Received…………………………………..__________

Cash Received………………………………………………...__________

Non Like Kind Property Received…………….……………...__________

Liabilities subject to which old property was transferred….…__________

TOTAL CONSIDERATION…………………..…….……...__________
       <LESS>


Adjusted Basis of Property Transferred……………………__________


Cash Given…………………………………….……...……__________


Non Like Kind Property Transferred………………………__________


Liabilities to which new property is subject…………..……._________

AMOUNT REALIZED …..……………………….………….___________

b. Calculate Amount Recognized:

i. Determine what property is “other property or money”

1. Money

2. Liabilities assumes or transferred

3. Non-like kind property

ii. Apply offsetting rules

1. Liabilities transferred offset liabilities assumed and vise versa.  Treas. Reg. §1.1031(b)-1(c).

2. Cash or non-like kind property given by the taxpayer offsets liabilities transferred to the other party. Treas. Reg. §1.1031(d)-2, Ex. 2. 

3. Money received by the taxpayer is not offset by liabilities assumed by the taxpayer.  Id.  

c. Calculate Basis of New Property 
Adjusted Basis of Property Transferred………………._________
Cash Paid………………………………………...……._________
Value of Other Property Transferred……………….…._________
Liabilities Assumed……………………………………._________
Subtotal……………………………………………….__________
<LESS>


Cash Received…………………………………..…._________

Value of Other Property Received…………………._________


Liabilities to which transferred property was subject ________
PLUS


Amount of Gain Recognized…………………….…_________

BASIS OF ACQUIRED PROPERTY……………….__________

4. Exchanges of Multiple Properties.  Treas. Reg. §1.1031(j)-1
a. Is there an exchange of multiple properties?

i. An exchange is an exchange of multiple properties if either:
1. More than one exchange group is created (e.g. real property and same class personal property or multiple classes of personal property; or

2. There is more than one property being transferred or received within a single exchange group (e.g. 2 real properties into 1; or 1 real property into 2 real properties).  Treas. Reg. §1.1031(j)-1(a)(1).  

b. Step by Step Approach

i. Separate properties into exchange groups.  Treas. Reg. §1031(j)-1(b)(2).

1. Like Kind Properties

a. Each exchange group consists of properties that are like kind or like class.  Treas. Reg. §1031(j)-1(b)(2)(i); §1.1031(a)-2 (classification of items of personal property).  

2. Liabilities are Netted and Offset

a. All liabilities assumed are offset against all liabilities of which the taxpayer is relieved.  Treas. Reg. §1031(j)-1(b)(2)(ii)(A).

b. Excess Liabilities Assumed. Treas. Reg. §1.1031(j)-1(b)(2)(ii)(B).  

i. If there are excess liabilities assumed by the taxpayer, the excess is allocated among the exchange groups (but not the residual groups) in proportion to the aggregate FMV of the properties received by the taxpayer in the exchange groups. Id.
ii. Limitation – the excess liabilities allocated to each exchange group cannot exceed the aggregate FMV of the properties received in the exchange group.  Id.
c. Excess Liabilities Relieved.  Treas. Reg. §1.1031(j)-1(b)(2)(ii)(C)
i. If the taxpayer is relieved of liabilities, the excess is treated as a Class I asset (i.e. cash) and is allocated to the residual group.
ii. Create Residual Group.  

1. If the aggregate FMV of all the properties transferred exceeds the aggregate FMV of all the properties received (taking liabilities into account), a residual group is created.  The residual group consists of an amount of money or other property having an aggregate FMV equal to the difference between the value transferred and the value received.  Treas. Reg. §1.1031(j)-1(b)(2)(iii)

iii. Determine Exchange Group Surplus and Deficiency

1. An exchange group surplus or deficiency must be created for each exchange group.  Treas. Reg. §1.1031(j)-1(b)(2)(iv).

a. Exchange Group Surplus.  Id.
i. An exchange group surplus is the excess of:

1. The aggregate FMV of the properties received (less the amount of any excess liabilities assumed);
2. Over, the aggregate FMV of the properties transferred in the exchange group.

b. Exchange Group Deficiency.  Id.
i. An exchange group deficiency is the excess of:

1. The aggregate FMV of the properties transferred;

2. Over, the aggregate FMV of the properties received (less the amount of any excess liabilities assumed)

iv. Calculate Amount Realized.  Treas. Reg. §1.1031(j)-1(b)(3).
1. For each exchange group, the amount realized is the difference between:

a. The aggregate FMV of the properties within each exchange group; and

b. The aggregate adjusted basis of each exchange group.

2. For the residual group, the amount of gain or loss realized is determined under regular §1001 rules.  

v. Calculate Amount Recognized.  Treas. Reg. §1.1031(j)-1(b)(3).

1. Gain Recognized for Each Exchange Group

a. The gain realized with respect to each exchange group is recognized to the lesser of:

i. The gain realized; or

ii. The amount of the exchange group deficiency.  

b. Losses are not recognized

2. Gain Recognized for All Exchange Groups

a. The total gain realized is the sum of the gain recognized from each exchange group.  

3. Gain or Loss Recognized for property that is not within an exchange group or a residual group is determined under §1001.  

vi. Determine Basis of Properties Received.  Treas. Reg. §1031(j)-1(c).

1. Determine Aggregate Basis of Properties Received for Each Exchange Group.
a. Aggregate basis of properties received equals:

i. Aggregate basis of properties transferred within each exchange group;

ii. Plus, gain recognized with respect to that exchange group;

iii. Plus, the amount of the exchange group surplus ( or less  the amount of the exchange group deficiency) with respect to that exchange group;

iv. Plus, the amount of excess liabilities assumed that are allocated to that exchange group.  

2. Allocate Basis within Each Exchange Group

a. After determining the aggregate basis within each exchange group, the basis is allocated proportionately to each property received in the exchange group in accordance with its FMV.

c. Example.  Treas. Reg. §1.1031(j)-1(d), Ex. 1.

i. A exchanges (i) a car with a 375 basis and 1000 FMV, and (ii) real estate with a 1500 basis and 4000 FMV.  A receives: (i) a car worth 2050, and (ii) real estate worth 2950.  

ii. A has an exchange group surplus of $1050 for the car (because the new car is worth $1050 more than the old car), and an exchange group deficiency for the real estate of $1050 (because the new real estate is worth $1050 less than the old real estate).  

iii. A realizes $625 on exchange of the car and $2500 on exchange of real estate.
iv. A recognizes $0 on the exchange of the cars (because there is no exchange group deficiency). A recognizes $1050 on the exchange of the real estate.  Gain recognized is the lesser of the amount realized ($2500) and the exchange group deficiency ($1050).  

v. The basis of the new car is $1425 ($375 old basis plus $1050 exchange group surplus). The basis of the new real estate is $1500 ($1500 old basis, plus $1050 gain recognized, less $1050 exchange group deficiency).  

� Losses are never recognized.  Treas. Reg. §1.1031(b)-1(a); §1.031(c)-1.  


� The amount recognized is therefore limited to the amount of boot received which may be less than the total amount realized.  
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